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The age of a lree can be known by examining
fa) cambium layer ‘b) annularfings
{c} medullary rays {d) -heart wood

Which of the lollowing lree yields hard wood ?
(a) Deodar {b) Chir
{c) Shishum {d} Pino

The radial splils which are wider on the oulside
of the log and narover towards the pilhare kngem
as

(@) hearishakes
(¢} starshakes

{o) cupshakes
td) pine

Which of the Iollowing timbar is suiladle for

making sports goods 7
fa) Mulberry {b) mahogany
{c) sal {d) decdar

Phywood has the advantage of

{a) greateriensitesirengihin longer direction.
{b) greater lensile sirenglh in shorter direction.
(c} same lensile sirength in all the directicns.

(d) none of the above,

The moisiure content ina well seasoned Hmber is |
{a) 4% 106% (o) W0%o12%
{c) 15%1020% {d) 100%

The plyvood
{a) has good strength along the pane! enly.
{ty) can be spiltin the planc of the panel.
{c) has greater impact resistance to blows than
ordinany wood. i
id)y cannot be bent more easily than ordinary 1
1

wood of samie thickaess.

The practical imit of moisture content achieved i
inair drying of imber 1s

{a) 5% (b} 15% !
{c) 25% {d) 35% ;

Construction Materials

Timber and Stone

Q8 Fist class imber has an average ffe of

{a} lessthanone year
b} YioSyears

{c) Sio 1Gyears

{d} morethan t0yeats

(.10 Fibre saluration point of limber is the moisture

conlentin percentwhen

(@) itis 12%.

{b} the cell walls are saturated with water and
cells cavity contain no water. ’

{c} the cellyalls arg dried and cells cavity contain
walter,

{d} thecellwalls are dried and celis cavity contain
nowaler.

Q.11 Which of tha following pairs regarding ihe dofecis

intimber are correclly maiched?
1. UDSELS —revroeenn. DUE L0 orver miaturily and
unventilated storage of wood

2. FOXINGSS .vveeresrenn... DUE G Crushing of
fibras running transversely

3. Star shakes .................Radial splits widest
at the circumterence and diminishing towards
the centre

4. Heartshakes .............. Crackswidest al the
contie and diminishing towards the ouier
circurnierence

Select the corcect answar using the codes givan
below.

{a} 1and2
{c} 1.3and4

{b) 3and4
{d} 2and4

Q.12 Neopreneis sutable lor usein

{3} bearings of bridges

{b} hard duty rabber coatings of floars
{c} joineryworks

{d} Hoorsofdance halls



Q.13 Consider the lallowing statements:

Beasoning of timber results in

1. incieased strengih.

2. increased durability.

3. reducedsesifience. )
Which ol these slataments are corraat?
@) 1,2and3 {b} tand3
{2 1and 2 {d; 2and 3

2,14 Timber can be made more fire resisiant by

{8} dipping and sizeping precess.
(b} Sir Abels process.

{c} charming.

{8} hotand cold open tank reaiment.

(.18 Consider the following statemenis:

Among the more common varlelies of timber,
namaly. Sal, Mango and Decdar,

1. Salis the sirongsst.

2. Mangois lhe least durable.

3. Deaodar is the lightest,

Which of the above stalemsnis are correci?

@ 1,2and3 {o} tand?

(e} tand3 {d} 28nd3

Q.78 The wood preservative "Creosole” is derved from

(& woodorgoat

(b} acidic cupric chromate
{c)} chromatid zinc chigride
{d} pentachiorophenat

Q.17 Malch List-! with List-Il and select ihe correct

answer by using the codes given below the list

Lisi- List-l
A. Granite 9. Water worn pebble
8. SandSione 2. Igneousrock
C. Greiss 3. Sedimentary rock
D. Gravel 4. Metamorphic rock
Codas:

A B C b
@yt 2 3 g
by 2 3 4 1
€3 4 1 2
@s 3 2 1

Q.18 Malch List-I with List-ll and select the correct
answer by using the codas given bslow ihe tisl:

List-1 List-1

A. Granies 1. Uitar Pradesh
B. Basalls 2. Gujarat
C. Slates 3. Deccan Traps
D. Sand stones 4. Rajasthan
Codes:

' AB C D

i @1 3 2 4

| B2 3 a4 1

i b2 3 1 4
e3d4 3 1 2

O 18 Malch List-] with List-ll and select the correct
answer Dy using the codes given balow the list:

i List-l

: Angient Indian temples

. Tajtahal, Agra

. Red Fori, Delhi )

Rashtrapati Bhawan, Dethi

List-lt

. White marble

Granite

. Pink sand stonia

Red sand sione

Cades-
A

{ay 2

by 1

{cy 2

{1

O wp

L

LN

D
3
4
§

NWN -
N N

3

Q.20 Match List-l with List-l and select the correct
answer by using the codes given below the iist:

List- List:li
A Granite 1. Quartzite
8. Sandslone 2. Slate
C. Uimesione 3. Marble
. shale 4. Gneiss
Codas!

A B C D
@1t 2 3 4
bjd 3 2 1
@41 3 2
@3 2 1 4

Q.21

Q.22

Q.23

Q.24

Match List-l wilh Lisl-If and seleci the correct

answer by using lhe codes given below the list:
List-I List-Il

A. Hardest rock 1. Slaie

B. Shingla 2. Marble

C. Omamenlalwork 3. Granile

D. Metamorphicrock 4. Watervorn pebbles

Codes:

AB C D
@1 3 24
4 2 3 1
cb3 4 2 1
d1 4 2 3

Consider the lollowing statemants:

Hardest timber is obtained lromthe wood growing
in

1. the moderately dry climatic regions.

2. lhe Himalayan slopes,

3. Iheopenareas.

4. the thin jungles.

W¥hich of hese statemenls are correct?

{a) tand3 (b) 1and4

{c} 2and3 (6) 2anda

Match List-l with List-ll and select the correct

answer using the codes given below the lists:
List-l List-31

A. Pigment 1. Turpentine

8. Drer 2. lIron Oxide

C. Thinrer 3. Zinc Sulphate

D. Exiender 4. Aluminium Silicals
Codes:
A B C D-
@3 2 1 4
3 2 4 1
{c2 3 1 1
2 3 4 4
tatch List-| with Lisl-l‘l and select (he correct

answer using the codes given below the lists:
List-! List-ll
Agriculturatimplements 1, Jack

. Boal construclion 2. Deodar

. Raiiway slcepers 3. -Babul

. Musicallnstruments 4, Benteak

o0o»

Codes:

A B C D
@1 2 3 4
3 4 2 1
)4 3 1 2
@2 1 4 3

Q.25 Match List-| (Terms) vith List-f {Brief definition)

and selecl the correct answer using the codes
given below lhe fists:
List-l
A. Sapwood
B. Knol
C. Shake
D. Rol
List-
1. Separalion belween adjacent layers of
fissuas
2. Disimtegralion caused by fungi
3. Abranchbase ambedded in limber
4. Quter layers of a log of wood
Codes’:
A
@ 1
) 3
© 1
{d) 4

D
4
f
4

Wwa o
- NwE

2

Q.26 Plywood is obtained from

{a) Bamboo

{b) Teak wood

() Struclural imber

{d) Commenly available timbar

Q.27 Cracks ina wee may develop due 10

1. storm
3. frost )
Which ol these statements isfare correc(?
(@) Bolhfand2 {b) Both2and3
(€} bolh 1and 3 (d) 1.2and3

2. dryingofcore

(.28 The purpose ol seasoning of wood is lo

1. reduce (he voids.

2. removethe curves,

3. reduce the moisture content.

4. change the direction of grains.

Vihich of these slalements isfare correct?
{a) Oniy 1 {b) Only3

{c) Both1and3 -{d) Bolh2and 4



Q.29 Asa canslniclion material. plywoad is preferred

10 thin planks of timber becausa ol

{a) good strength and dimensional stabilily in
both laleral and longiludinal direclion.

(b} pood dimensional siability in both
tongitudinal and fateral directions.

(c) good sirengthin bolh longitudinal and laleral
directions,

(d) savings in cost and environmental
consideralions.

(3,30 Seasoning ol limber is requited la
{a} soflen lhe limber.
{b) harden the timber.
{c) straightenthe timber,
{d) remove sap from Ihe limber.

Q.31 During the conversion of limber by sawing, in
order (o oblain strong timber pieces, the culs
should bo made by
{a) ordinarysawing  (b) tangeniial sawing
(¢} quartersawing {d) radial sawing

Q.32 Radial splils in limber originating from ‘bark’ and
narrowing towards the ‘pith’ arg known as
(a) heartshakes {b} slar shakes
{c) cupshakes {d} knols

.33 Seasoning of timber cssentially involves

{a) sirengihaning of cells in timber,

{b} reducingthe maisiure conlent loa level below
ils fibre-saluration paint.

(c) facilitating equal shtinkagein alltha directions
50 as 10 prevent warping.

{d) preventing cracking due 1o defecls and
shakes.

Q.34 The modulus of elasticily of limber is aboul
(a) 0510 1.0 x 104 Nfmm?
(b} 1.0l01.5x%10* Nmm?
{c) 151020 x 10° Nimm?
(d) 201025 x 10° Nfmm?

Q.35 Alimber beam of alfective span L and of cross-
soction bx d is said to be laterally supported if
dfb ang L/b are respeclively
(a) lassthan § and less than 48.

(b} fess than 2 and less than 48.

{c) less than 3and less than 50.
{d) lessthan 4 and legs than 51.

.26 Malch List-l (Species) with List-ll (Uses) and
select Ihe correct answer using 1he codes given
below tha lisls:

List-l List-ll
A. Babul 1, Tennis rackets
B. Bemeak 2. Boals
C. Bijosal ’ 3. Agricultural lools
D. Mulberry 4_ Furniture
odes:
A
(a) 4
{b) 3
{© 4
3

s N =@
AW H WO
RN N = I

2

Q.37 Consider the following statemanis:
Conifers
1. areencdogenous lrees.
2. grow outwards.
3. have painied neede like leaves.
Ol lhe above, the correcl stalements are !
() 1and2 {b) 2and3
{c) 1.2and3 (d) 1and3

Q.38 The age of Irees can be predicled by
{a) length of medullary rays.
(b} counting number of rings.
{c) bymeasuring the diameter of pith,
{d) by the thickness ol bark.

Q.39 The drawback ol eleclric seasoning of imber is
{a) checks {b) splitting
(¢} cracks {d) reduced sirength

Q.40 Seasoning of timber is necessary 1o
{a) increase the fire resistance.
{b) increasa the vermin regislance.
{c) reduce the micrabial subsiances.
{d) expe! the maisture present in timber.

Q.41 How muchtime, a timber may require for natural
seasoning? '
(a) 20months
(c) 1year

) 4-Gmonths
{d) 2yeats

Q.42 Fire proofing of limber
{a) makes the timber susface fire preol.
{b) makes il difficult 1o ignile and support iis
ovn combustion, ;
(c) does not allow he fire come closer towoed,
(d) extingusishes the fire and dissipates theteat
generaled. :

Q.43 Knots reduce the fensite strength of wood
{a} atong the grain. '
{b) acrossthe grain.
{c} tangentialio the grain. i
(d) none of ths above. )

Q.44 Piywood has great stiliness and stienglh i
{a) across lhe grains. ' :
{b) along the grains.
{c) both (a)and(b).
{d) 1angenlial lc he grain,

Q.45 The expansion and shrinkage ol plywoeds are i
comparatively very Iow as :
{a} they are held in position by adhesives.
(b) lheyare glued under pressure.
{c) plics are placed al right angles to each other,
(d) lheyara prepared {romveneers. -

Q.46 According to he relevant IS code. the weightof
the limber is to be reckoned ala mwoisture content |

o :
{a) zer0 (b} 4% i
{c) 8% {d) 12% i

m Timber and Stone
L) 2 () 3.4 4@ 5
M) 2 @ 18. (@ 14.®) 5 (@
o1. () 22 (a) 23.(c) 24.{b) 25 {a)
1. (@) 32 (b) 33 (b) 34.(a) 35. (o)

Q.47 Consider the following methods of prevention of
timber :
1. Peessuee application
2. Brushapplication
3, Dipping
4, QOpentank
The cortect sequence of these metheds in the
increasing order of their effectiveness s
fa) 1,3.4.2 by 3.4.2.1
{c) 2.3.4,1 fdy 4.2.1.3

(0.48 Assartion {A} : Dimensional changes n vioed
result due ko variation in the moisture content of
the wood with almospheric cendition.

Reascon {R) : The cell walis in vwood are highly

hygrescopic and when exposed 1o moisture,

absorb large amounts of water and swell.

ta) both Aand R are tue and B is e correct
exptanalicn of A

ib) both Aang R are true bul Ris not a correct
expianalion of A

ic) Aistrue but Ris false

(d} Aisfalse bt Ristrue

0,49 The compressive sirengih of burnt elay bricks
as per{S 1077 is
fa} 100kgler? {b) 150kglkcm’
ic) 100-150kglem®  {d) 35-350knfemy

Q.53 The bricks used extenswaly {or basic refractories
infurnages arg
{a) Chromebricks o} Sillimanitz bricks
fc) Magnesitebricks {d} Fosleriie bricks

6. (b)) 7.{c) 8.(b) 8 (c) 10.(6)
16, () 17, (d} 18.{b} 9. (a) 20.{c)
26. {&) 27.(d) 28.{b} 29.(a} 30.(d)
36 {b) 3a7. (o) 28.{b) 39. () 40. (@
46, (@) 47.(c) 48.(a) 48.(d) 50.(c)

41, {b) 42. (b) 43. (b} 44.({c) 45 (c}}
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3z.

Anrular ing consisis of closed cells of woody
fibras and tissues arrangod in dislinct
approxdmalely concentric circle araund pih., Every
year one such ring is jormed, Hence the tolal
number of annual rings indicates the age of ihe
tree. The wood near the bark is the youngest,

{c}

The deciduous trees have flat and broad leaves.
These lrees yield hatd woods. The lypical
oxamplas of such lrees are lgak, mahogany,
sheesham, gak elc.

.

{c}

The star shakes exlend Irom hark towards centie
ol stem; they & wider on lhe outsids ends and
narrower onthe inside ends,

o}

Upsets caused by crushing of fibres running
wansversely during iha grovdh of tree. Foxiniass
is sign of decay appearing in the form of yeliow
or redtinge or discoloralionof overmared treos.

{8}
Creosole is the most commonly used preservative
for iimber. Ris derived usually fromwood or coal.

{d}

The order of srength of timber section is
Radiat sawing > Quarier sawing > Ordinary
sawing > Tangeniial sawing

{v)

& circular direction. It is & curved rack andg
separates parily one annual ring from the other.
Heart shakes occur in the conlrz of the cross-
section and they exiend {rom pith 1o sap wood 1n

Cup shakes are caused by ruplute of lissue in

35.

the direction of medullary rays. They occur due
lo shrinkage of interior part of troe which s
apprcaching maturity. Radial shakes and star
shakes extend from bark towards (ho sapwood.
Star shakes are wider on the oulside ends bark
and nasrower on the inside ends {sapwood). The
radial shakes are fine, iregular and numeraus,

(a)

The species of fimber tecommended lor

constiuclion purpose are classilied into three

groups on the basis of their modulus of elasticily.

Group A -with modulus of elasticity above
125 vem? (12500 Nimm?)

Group & -with modulus of elasticity between

’ S8 Yom? (9800 Mmm3) and 125 1 /cm?

(12500 Nimm?)

Group C :with modulus of elasticily above
56 tfem? (5600 N/mm?) and balow
98 tem? (9800 Nimm?)

{c)

To prevent lateral buckling, the minimuny widith
of the beam is kept equal 10 or more ihan (/50
and /3. In no case widih should be less than
50 mm,

(5}
Babul is used for bodies and wheels of bullock
carts, agricullurat instruments, tool handles, etc.
Benteak is used for building construction, boat
constructior, furnitute, etc,
Bijasalis used for ordinary building construction,
cartwheel, furnilure, elc.
Mulberty is used lor baskets and sport goods
lixe hockey sticks, lennis rackets, cricket bats,
eic.
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